MBx40 - 1ks

MBx25 - dks
MI10%30 - Bks

M12x60 - Tks (A)

M12x70 - Tks (I.C) "!h

9

M12x70 - 2ks (A)
M12x90 - 2ks (1) .
M12x19 - 4ks (C)

SMB - ks

M10 - 4ks
M12 - 3ks (A, 1)
M12 - 1ks (C)

PF - 4ks @

P11 -2ks

P13 - 2s (A)
P13 - 3ks (I, C)

P& - 1ks

P12- Tks (A) 'j PZ10- ks @

PP8 - 4ks PR14 - 1ks
PP10 - Bks

PP12 - 3ks (A1) P30x13x8 - 1ks {I.C)
PP12 - 5ks [C)

M12x70 - 1ks

P30x13%8 - Tks
PZ10 - 2ks
F13 - 1ks

MI12x19 - 4ks

MI12x70 - 1ks

P30x13x8 - 1ks
PZ10 - 2ks
P13 - 1ks

P13

P11

M10x30

AlC 32524 3

P%

MBx25

PZ10 - 2ks
P12-1ks

MI12x70
M12x60 - Tks

HONDA CIVIC A
Kod: HOP05(A,1,C) 24.11.2012




